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1. The average of 50 numbers is 30. Later it was found
that two entries were wrongly entered as 82 and 13
instead of 28 and 31 respectively. Find the correct
average. [SSC CGL 2011]

50 Roal,RY BoITO 30. F0BT T IRV,
g@aN 28 ) 31 B LBOM 82 B 13 90D SN
SRRBIDHID BoDwodT. FOWE BT3RO,
BoRBHBMO

(a) 36.12
(c) 29.28

(b) 30.66
(d) 38.21

2. The average marks in Science of a class of 20
students is 68. If the marks of two students were
misread as 48 and 65 instead of the actual marks 72
and 61 respectively, what would be the correct
average?

20 c‘.’)mz@ﬂw IZIBO JooO 0oBNW 68. VYD
JTURENY ©0BNYRY JWTT woBNYT 72 DI 61
S 2397 48 DR 65 2ot ST A LOTT, JBAT

JooR0 aad)?

(a) 68.5 (b) 69
(c) 69.5 (d) 70
(e) 66

3. The average of three consecutive odd numbers is 12
more than one-third of the first of these numbers.
What is the last of the three numbers?[SSC CGL 2011]

DD I33 U3 ‘-«Soa%rw o0y B8 RSoaJ"zsm}
SeBuIodh SwedSe 20w end 038 12 Hed). e

KSO&%H'JQ BRI dredH?
(a) 15 (b) 17
(c) 19 (d) Data inadequate

4. The average of 5 consecutive even numbers is 28.
What is the sum of the largest number and the square
of the smallest number?

5 I33 I Joad v VOO 28. wWeg Sosiad S

DR 238, 303560& 3 oD ?
(a) 603 (b) 612
(c) 608 (d) 605

5. The average of five numbers is 371.8. The average of
the first and second number is 256.5 and the average
of the fourth and fifth number is 508. Which of the
following is the third number?

o JodnY TYoed 371.8 «NA. Sedw DI
QBB b Bosfad FUoRTO 256.5 DB Fov),Te DI
0Be Fosd,od FTRO 508. B YNNIV adredzd

R0 e Joad;?
(a) 360 (b) 310
(c) 430 (d) 330

6. The average marks obtained by a class of 60 students
is 65. The average marks of half of the students is found
to be 85. The average marks of the remaining students
is [SSC CGL 2016]

60 JTARENY TUoIO woBNW  65. WTFBR),
T RENY ToIRO woBriwd 85 20w BoDodT.
QVPB JTYRHENY JTaRO 0B aad)?

(a) 35 (b) 45

(c) 55 (d) 65

7. The average score of a cricketer for 13 matches is 42
runs. If his average score for the first 5 matches is 54,
then what is his average score (in runs) for last 8
matches?

13 6od?sr1°?ri‘ w2 BUNS JooR0 =p,ec’ 42 TR,
JIeTo 5 aodém?ﬁ 30 JoIO Tn,e0f 54 sATT,
BpJod 8 30:32@?@” 30 JooR0 Re,e0* (BRFRVY)

o) ?
(a) 37 (b) 39
(c) 34.5 (d) 33.5 Pa
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8. To find the average of five numbers, a student write
a number 54 instead of 45. Thus, the average of these
numbers is 52. The correct average of these numbers
is ? [Delhi Police SI 2010]

B JoadNY FoeRORY BoDdbBobew, JweBrain
45 S 2Bt 54 Joad oD, TTIS. Leraf, B
RBodnY Toemd 52 #NB. B Fof ¥ FOared
JoI0?

(a) 50.4
(c) 50.1

(b) 50.2
(d) 50

9. The average of first three numbers is twice the
fourth number. If the average of all the four numbers
is 12, then find the 4th number. [SSC CGL 2013]

dpde S Jodny Jooxdan Teu, e Josob
QTR Bed),. QU To, RSoa%rw JoeId 12 N3,
<033 4 Se Ross DD, Bow&RAO.

48
(a) 16 (b) =

18
(c) 20 ()~

10. The average marks of 40 students in an English
exam is 72. Later it is found that three marks 64, 62 and
84 were wrongly entered as 68, 65 and 73. The average
marks after mistakes were rectified is[SSC CGL 2011]

@oNE" BOZADO 40 JTABENY JTRO woBNW 72.
S03T Fwed) 08N 64, 62 DR 84 ¥, 68, 65 DB
73 oo BTN SDRDIDID  Bo@Dod.
3PN, TOBBAT S03T JoO eo8riwd

(a) 70 (b) 72

(c) 71.9 (d) 721

11. The average weight of A, B and C is 26 kg. The

1
weight of B is E times that of A and the weight of C is
29 kg more than that of A. Find the weight of C.

A, B D3 C I TB0a30 Se3 26 32. B od 33 A No3
1/3 S, DB € ab S8y A NoB 29 kg Td),. C ab

Z&Iéédd& 30 HB/ANO.
(a) 40 kg (b) 42 kg
(c) 50 kg (d) 56 kg

12. The average weight of 5 men is increased by 2 kg
when one of the men whose weight is 60 kg is replaced
by a new man. The weight of the new man is

[AFCAT 2017]

60 3.3 38T PHICVY WOy B Mo
2B 5 PDHHC FoIO BesH) 2 33
BeRrH3T. B B30d 368 oB)?

(a) 50 kg (b) 65 kg
(c) 68 kg (d) 70 kg

13. The average age of 11 players and their coach is 33
yr. The average age of first 5 players is 29 yr and the
average age of other 6 players is 30 yr. What is the age
(in yr) of the coach? [Delhi Police Constable 2017]

11 36371900 D) ST BTe3eB 0T FToIO SabR),
33 3ANW. BT 5 BLMST JoIIO SIob) 29
SBEAWD D) 2BT 6 Be3MTT JoIO Sabab, 30

SRR, B0WeRDTTR SR (SRFBY) oR),?

(@) 71 (b) 75
(c) 68 (d) 64

14. The average age of students of a classis 15.8 yr. The
average age of boys in the class is 16.4 yr and that of
the girls is 15.4 yr. The ratio of the number of boys to
the number of girls in the class is[AFCAT 2018]

0% BoNAad JTBEAY Jookd Sobay 15.8
SRR, SN BDBDNAT JoIO b, 16.4
BN DD DRDNDT SobA, 154 TJENWD.

Pa
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zédriéo&egdod ]~ falenile] F\Soa%ﬁ RN rsSoai'?So&
VD T3?

(a) 1:2 (b) 2:3
(c)3:4 (d) 3:5

15. If average of weekly incomes of A, B and C is 4000
and that of B, C and D is X 5000, weekly income of A is
X 2750, then weekly income of D will be

[SSC LDC 2005]

A, B ) C 3 =900 J0R0 eswood X 4000 &) B, €
@) D ad eswead X 5000 8NZT, A ad 0T eswead X

2750 e3NGT, D od 0T e8wa0d?
(a) 5750 (b) X 4750
(c) 25280 (d) 3800

16. A batsman, in his 12th inning, makes a score of 63
runs and thereby increases his average score by 2. The
average of his score after 12th inning is

[SSC (10+2) 2010]

22), WL TR BT, 12:e /) 03O 63 ORF NPDZIN
DR 8 RRVB VT IO B, e0° ¥R 2 B DS,

1233e fa&’g(on:,zd So0380 33 ﬁfaﬁec‘:d J0ex0?

(a) 41 (b) 42
(c) 34 (d) 35

17. A cricketer has average score of 49 runs after 9
innings. How many runs does she need to score in her
10th innings to make the average score of 52 runs?

W) 334n 9 @Q(on:rivé So33 49 TRY Jooxd
xiraéec‘ ﬁfaoamoﬁ. 52 3N} JTa8O rs’uaéeo‘ o@Eew

s 353* 10:3e @Q(onﬁ)xiéﬂ o), B° neddes?

[KVS LDC 2017]
(a) 52 (b) 70
(c) 79 (d) 61

18. Average of daily incomes of A, B and C is X 450. If
average of daily incomes of A and B is X 400 and

average of daily incomes of B and C is 430, then daily
income of B will be [SSC DEO 2008]

A, B3 CB;300 swoodd JooI0 X 450. A D3 B
od B;S0DS sweabd FTeRID X 400 D) B I € ob
B S00S swoadd JoeIO X 430 NPT, B ab DI

[ZiapTon) cacfag,?
(a) X300 (b) X310
(c) X375 (d) 425

19. There are 41 students in a class whose average age
is 16 yr. What will be the average age of the class, if two
students of ages 17 yr and 19 yr, are excluded and a
student of age 20 yr is included?

[Delhi Police Constable 2008]

2001 3dﬁéod>e2 41 cf)mzs&)&'riv?ogd’ I3 J0I0
SR, 16 SAFNLD. 17 SRF DD 19 SR S S
QD JTABFAYRY, BRTDBBITT DD 20 IAF
Sabd 3 QUapRAL Y TedIBTB 3dridad Joed
Sob, azb?

(a) Less than 16 yr

(b) 16 yr

(c) More than 16 yr and less than 20 yr
(d) 20 yr

20. The average age of A and B is 20 yr. If A is to be
replaced by C, the average would be 19 yr. The average
age of Cand Ais 21 yr. The ages of A, B and C in order
(inyears) are  [SSC (10+2) 2013]

A B ob FooI0 Sabah, 20 SREMiwd. A 9=, € oT
WBUAVIeBIBT, JTRO 19 SAFRL. C DD A S
TR0 SabR), 21 SRERW. A, B D) € 1Y b,
e (BRFNYY) ad

(a) 22, 18, 20
(c) 18, 22, 20

(b) 22, 20, 18
(d) 18, 20, 22
Pa
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21. The average presence of students of a class in a 12.4 3P0t JTIIZO BR0DDI 56303» 26 8RO 5
college on Monday, Tuesday and Wednesday is 32 and

on the Wednesday, Thursday, Friday and Saturday is aéw‘ﬁ%}a}%{ 3ﬁd.>£fa°&g,a§5 2l (£ BUELE 2ER
30. If the average number of students present on all the TRy 0.4 TR, 38D R3S, 3T BeJab

six days is 26, then the numbe'r of students who Bo8.0 Bedw ©3h IF3 IZFRY  Fosd.obd
attended the class on Wednesday is 3 3 2

[IB Security Assist. 2017] B0 &HAAO.

B exDEoT, SonPEes DR WFHTTOW) FoefedIO (a) 85 (b) 70

30n3ad ATBNY FOIO TBoCE 32 DD (c) 34 dige

wEDes, DT, BFTT DR BITeTTFowD 30. 24. Last month the number of employees in company

Q9 8B DINYO ToBODHS AT DENY JTTO Joad, A was one-third the number of employees in company
. “ 9 ° B and the average number of employees of both the

26 ehdod' e ‘_‘;08325 wgimed 3o Fonoed companies was 718. Company A recruited one more

o‘.’)mé@sriv?odd employee this month. What is the total number of

i ?
(a) 50 (b) 40 employees in company A at present?

(c) 60 (d) 70 3Y3 3onwd oz A oi)Omd emdfaéehﬁv 30332503.).)
8oz B bR evdeenny JoadNod @wedse womd

22. The average of the marks obtained by girls in-a test y

was twice the average of the marks obtained by boys weriggheh i SOGREeR~ ISR Wdfaﬁeﬁﬁq

in that test. If there were 11 candidates in all and the KSoaizs 718. 3083 A 8 oD QR W), eruciraéeﬁoi)abd

average score of the boys was 12 and the total marks Sebidaodd. Sxbad A BoBdahd e svrte. ARy
obtained by all the examinees was 168, find the S o < 3

number of girls who took part in the test. KSO&% oa?
(KVS LDC 2017) (a) 380 (b) 370
2,00 @0egabhd DBDNHD SBW oBnRY Foadn (c) 360 (d) 340

e B0eEohe BB APIT o3y JoadNo3

25. There are 40 children in a class in which boys are 4

QTR 553-?4 5"’5-3,- e, 11 ege,%&s‘ri@dod D) BDRNT more than the girls. If the average weight of all the

Jo0 mﬁeoc 12 esﬁdod DD o) OB students is 42.5 kg and the average weight of all the
girls is 48 kg, then find the average weight of all the

BB e, o3 168 NPT, BOeFohO anSHAT boys. [IBPS Clerk 2018]

AT Rioa%oi)dg( BoRHRANO. 20T 36&30&){2 40 d)ééi?cnao", Qadde.‘)m DBDNRD

(a)3 (b) 6 DDADHOAS 4 823%. QU c?)mz@ﬂ'i%’ J030 Bz

4 d) 8

© (d) 42.5 33 DD QU BRDADT JoTO 33 48 32

23. A man whose bowling average is 12.4 takes 5 sAZT, aun RRNT JoeT0 SRBI, 80D HBAD.?

wickets for 26 runs and thereby decreases his average (a) 40 (b) 38

by 0.4. Find the number of wickets taken by him before (c) 36 (d) 42

his last match. (e) None of these Page | 4
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26. The average expenditure of Mr. Sharma for the
January to June is X 4200. He spends 1200 and X 1500
in July. The average expenditure for the months of
February to July is [IB Security Assist. 2017]

BI30A0T BRIV Be Bror TV FoO Feg X
4200. ©TID &)ejéde?, 1200 S X 1500 br
3T, FwBOWoT Wef; Soriy IO T

o)?
(a) 2750 (b) 3250
(c) % 4250 (d) 4500

27. In an examination, the average of marks was found
to be 50. For deducting marks for computational
errors, the marks of 100 candidates had to be changed
from 90 to 60 each and so the average of marks came
down to 45. The total number of candidates, who
appeared at the examination, was[SSC CPO 2010]

B0egabd, ©@o8nRY TTeRO 50 20T BowWoh3.
59,5900 deeadnent woBn¥d Bvabew, 100
WRBFNY  wosnivd) Bwe 90 Bod 60 3B
wBUedbRIWeSND) BDE) 8gdod osnRY Joed 45
3, VDD, we), BOF How 0T w3 BENY Josl; aad)?
(a) 600 (b) 300

(c) 200 (d) 150

28. If the average of m numbers is n? and that of n
numbers is m?, then the average of (m+n) numbers is

m Jof Y Joedd n? SR n JonY Joad, m?
8NZY, 3033 (m+n) JoR¥ TJoIVO aaD?

[SSC (10+2) 2017]
(a) m/n (b) mn
(c)m—-n (d)m+1

an+1+bn+1

29. If average ofaand b, [ ], then the value

of nis [UPSSSC 2016]

a+pn

(@a)o (b)1
(c)2 (d) 4

30. The batting average for 40 innings of a cricketer is
50 runs. His highest score exceeds his lowest score by
172 runs. If these two innings are excluded, the
average of the remaining 38 innings is 48 runs. The
highest score of the playeris  [SSC CGL 2011]

) 334ns 40 @Qonﬁ,ﬁv mzsaSon‘ J09O 50 T~F.
933 w&ﬂ(é r&/aéeo‘ 33 3D a”vaaeo‘ esaig( 172
ORFiPod  edD3T. B TR @‘Q(onf\,rivéwg(
BRTAIRITT, o3 38 @‘Q(orf;,rivé J0ox0 48 O

e3A\T3. e3e3rTT eaz%&é ﬁfaaeo‘ o=?

(a) 165 (b) 170
(c) 172 (d) 174

31. 16 children are to be divided into two groups A and
B of 10 and 6 children, respectively. The average marks
obtained by the children of group A is 75 and that of all
the children is 76. The average marks of the children of
group Bis [SSC CGL 2014]

16 =3, ¥:, ZzhaeN 10 D) 6 DF,Y & D) D v
a8 rHoRnven dontdzeled. o Hod 3, B3
TR0 ©0BR 75 DR) aw DB Y ©o3nW 76.
HodR D3 ¥ FoeTD 08n o) ?

= 2
(a) 77 - (b) 77 -

1 1782
(‘:)783 ()783

32. The average weight of the students in four sections
A, B, C and D is 60 kg. The average weight of the
students of sections A, B, Cand D individually are 45 kg,
50 kg, 72 kg and 80 kg, respectively. If the average
weight of the students of sections A and B together is
48 kg and that of sections B and C together is 60 kg,
then what is the ratio of the numbers of students in

sections A and D? [SSC CPO 2013]
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Q,9, 3 D3 8 Joew, Annwe am?samq J039 35. The average weight of 3 men A, B and C is 84 kg.
o8 28 B3 ; BRe O o Another man D joins the group and the average now
60 8 A, B € 2D algm méa? becomes 80 kg. If another man E whose weight is 3 kg
R030 3387 a_ﬁéesmﬁ 45 32, 50 32, 72 32 DD more than that of D, replaces A, then the average
80 83, & 3 D NFornY Ao HENY Fomd B8 48 we!ght of B,C, D and E becomes 79 kg. What is the
= 3 weight of A? [SSC CGL 2016]
88 D) deyeririeh D DI A wedrt 60 88 8NJT, o A, B2 €3 FHRS S0I0 308 84 83, k) 3,8
DB B JernvdS Imy ey Joafjob oDT3 8 oA Feh@os RB) FoO St 80 8.3. D Ao 3
o:? 32 Bed) FeBADES AR, DDA E, A 0x) wBOITT,
(a) 12:7 (b) 4:3 B,C, D D3 E ab JTo=30 B3 79 38 esr13T. A S 303
(c) 3:2 (d) 8:5
oD)?
(a) 70 kg (b) 72 kg
33. Average of the marks of 132 students of a college (c) 75 kg (d) 80 kg
is 40. If the average of the marks of the passed student
is 42 and the average of the marks of the failed
students is 20, then what will be the respective ratio of
the total marks of passed students and the total marks
of failed students? (SSC (10+2) 2018)
SoeJedS 132 cDCDZ@FrN V080 o3 40.
oV3eRF0E JTYBFAD woBNY JoIRO 42 DR
oD eer améasrw ©08MY JoaRD 20 e8NS, 2wew),
©oBNY ODTBY) o@)? VILHF0T ITYUREMW
DB D SeEFTIT JWYPEMY wed), ©0BMW?
(a)21:1 (b) 23:2
(c)19:11 (d)9:2
34. Ajit has a certain average for 9 innings. In the tenth
inning, he scores 100 runs thereby increasing his
average by 8 runs. What is his new average?[FCI 2018]
Wl 9 eQonfiert bFE TYoeId TeodWIT.
B33e ®YoEIY, oz 100 IF ALTD e
Swees 33 KSO?FJGO&):% 8 S nYod
£§&£@od&. o33 BRI JTIO am)?
(a) 25 (b) 21
(c) 28 (d) 32 Page | 6
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